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TR P 107.01.31 [ 107.02.07 | 107.03.09 | 107.01.30 | 107.02.07 | 107.03.10 | &
TSP(ug/m’) | 24 - p¥ g 174 179 104 126 77 171 250
PMo(ug/m’) ;;/fﬂ;‘fﬁ 70 63 50 61 58 89 125
PM, s(ug/m’)| 24 ] pF & 42 27 24 28 46 51 35
AR A A A A A - —
F22LBIZFETERSEEREL
;E'J':Lh A B R B REES % - ;
TpE P f 107.03.08~107.03.09] 107.03.09~107.03.10] ** # F =¥
SO, B ETOE 0.018 0.016 0.25
(ppm) FIERZT 0.009 0.009 0.1
NO, B ELIE 0.036 0.047 0.25
(ppm) pTiaE 0.023 0.030 —
NO B [ PETEE 0.033 0.009 -
(ppm) pTiag 0.008 0.005 —
CcO B T aE 0.6 0.6 35
(ppm) B 8 ETaE 0.3 0.5 9
0; B ETE 0.053 0.059 0.12
(ppm) B8 [ EIHE 0.038 0.049 0.06
NMHC(ppm) p T 0.26 0.20 —
&-(ng/m’) 24 | P iE 0.1 0.1 -
& (ug/m’) 24 | FE B 0.1 0.1 -
A (ug/m’) 24 | P 0.1 0.1 —
& (ug/m’) 24 /| FEiE 0.1 0.1 —
4(ug/m’) 24 | PE i 0.1 0.1 —
A > (ug/m’) 24 | FEiE 1.98 7.23 —
BAE R # i —
B i (m/s) pImEd 24 ) PR 1.3 1.4 —
2R (O pIioE 19.9 19.3 —
i EBRE (%) pLoE 71 73 —
EAE g/m’/? 8.4 8.7 —
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3 ERIEP Z9EF (Leg Linax

) F&REEZPRIEP 5 Lyeg Lymax > Lix ?
Lv 2 g hRe(BER T 2 R)E

R = %Eﬁfﬁiiﬁdf;ﬁ.i@"@‘ PERLESRGRER EHREZ pAAR SN THRER

¥ = : dBA)
;E E] L L L R g %]J‘;—
E;_ ,Eljl;'l ‘E‘!:, Leq Lmax p E3 jd '—Ff ¥
PR BT 107.03.14~15 | 69.8 | 96.2 | 71.4 | 68.7 | 64.9
L » L P - " -
Bipgsg b o 107.03.14~15 | 61.2 | 87.3 | 63.2 | 57.8 | 55.1 |« B E 1% p Bf
"Erﬁ»;r" AR~ >R b2 g
- 107.03.15~16 | 62.3 | 93.3 | 64.1 | 60.1 | 57.1 |
(B*R-| & = ) B
ER I 3 — | — | 76 75 72
% p/?]vé'%ﬁ?_p Pl % i—f{%
Hi~:dB
R L L L Lvio = TR A
B /E'Jf‘i 2t veq vmax Vio » V10 * W IE
PR e kT 107.03.14~15 46.4 62.3 47.6 437
BArREEs BT 107.03.14~15 45.2 61.3 46.4 42.8
3 X E
AR &
, , 107.03.15~16 35.2 52.9 36.7 314
(BB @ = i)
BB R 2T @ — — 70 65
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10 5 -1 10 3 -2 20 3 -1 20 3 -2 © A
i H B
BRCL O | RK | R | k| RK | 2R | SR RE | 2R | ok | A R
kiR T | 250 | 246 | 239 | 264 | 257 | 250 | 251 | 242 | 229 | 265 | 254 | 227 | —
pH i — | 83 8.2 8.2 8.3 8.3 8.3 8.3 8.4 8.3 8.2 8.2 82 |7.5~85
BiE mg/L | 59 5.6 5.6 58 5.7 5.6 5.8 5.6 54 5.8 5.7 55 | >5.0
20252 |mgl| <10 | 16 16 | <10 | <10 | 15 14 | <10 | 17 15 | <10 | 15 | <30
“EZF5E% |mgL| 69 7.3 6.6 6.2 8.3 8.0 6.6 7.6 7.9 7.4 7.6 7.1 —
BFEA  |mgL | <10 | <10 | <10 | <10 | <1.0 | <10 | <1.0 | <10 | <10 | <10 | <10 | <10 | —
i% mg/L | 0.11 0.1 0.09 | 0.08 | 0.11 | 0.09 | 0.07 | 0.1 0.09 | 0.09 | 0.13 | 0.12 -
A mg/L | <022 | <022 | <022 | <0.22 | <022 | <0.22 | <0.22 | <022 | <0.22 | <022 | <0.22 | <0.22 | —

LA mg/L | 0.04 0.04 0.04 0.04 | <0.02 | 0.04 0.04 0.04 | <0.02 | 0.04 ND 0.04 —

<R A 1%}(;% <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <t0 | <10 | <10 | <10 | —

[ Bk ERL mg/L | <I1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2.0

KN ] mg/L | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 -
EN I mg/L | <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 —
= Fil mg/L | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

- & mg/L | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

E 5 mg/L | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

%?\zﬁ

AR O mg/L | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

LT %% mg/L | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

fa 214 mg/L | N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

i cm/s | 5.48 4.29 3.18 6.29 5.41 4.16 6.29 5.18 432 7.01 6.25 4.71 —
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